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o P 2: Fully use wiring depa”l’ne]
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(18) | P
Minimize 7 = p - _ di
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6. (a) Define Integer proglr amming problem and describe its various types- .

~ (b) A corporation is-‘qoné.idering four possible investment opportunities. The following

table presents informatibn about the investment (in Rs. thousand) profits.

Wroject Present Value| of Expected | Capital Required Year-wise by Projects
Return ; ‘
; : Year 1 Year 2 Year 3
1 6,500 - 700 550 - 400
2 7,000 850 550 350
3 2,250 300 150 100
4 2,500 350 200 -
Capital available for investment 1,200 700 400

- In addition, projects 1 and 2 are mutually exclusive. Formulate an Integer pfogramming
model to determine which projects should be accepted and which should be rejected in

(12)

order to maximize the present value from the accepted projects.

7. Use Branch and Bound method to solve the following integer programming problem.

Minimize Z = 4%1 + 3%z

- " 'Subject to: A
,A_ 5X1+3XZ_>_30
‘ ' X, <4
X, < 6. .
xq,%2 = 0 and are integers
non-integer optimal solution is X, - 4%, =2 7= 26
) - ) 3’ .



